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@® 50° @ 45° ® 40°

@35°

® 30°

70° 4 2/a = 2/b

b= /x+ la

70° + 2/a = 2(4x + La) = 2/x+ 22a
2/x = 170°

L Lx = 35°
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@® 57K @ 67 ® 7 @87H ® 974

n 2499 W72t gjzte] 2719 gL
180° x (n = 2) + 360° = 1440°
~on=8(7h)




4. o5 2" za+ b & 27127

@ 70° @80° ® 90° @ 100° & 110°

/AFE = /CFD = 40°

/BEF = za + 40°

/BCF = /b + 40°

oBCFE of| A

60° + £b + 40° + 140° + za + 40° = 360°
La+ /b = 80°




o} 13} o] /BAC = 35° 4 o, /BOC 9] 2715 +5}H?

@ 70° @ 75° ® 80° @ 85° ® 90°

LOAB = a, /OAC = b =tal 5}H
a+b=35°
(BOC = 70°
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7
130° 105

@® 270° @ 275° (@)280" @ 285° ® 290°

s749e Wzte §e 700 o|BE 4 — T20° -
(130° + 110° + 80° + 15° + 105°) = 280°
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@2160° @ 25200 @ 2360° @ 1880° G 2880°
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180° x (12 — 2) = 1800° ©] 1L

9|Z}e] 3719] -2 360° o|B=

1800° + 360° = 2160° o]t}
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A

D 50° @60° @ 70° @ 80° ® 90°

B ~

ADBC ©f| A

/DBC + /DCB = 180° — 120° = 60°
/B + /C = 2(/DBC + /DCB) = 120°
. /BAC = 180° — 120° = 60°
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@® 700° @) 720° ® 740° @ 760° ® 780°

AE CF & d2st4¥

td + te = OCF + /OFC

olm& ot Zhe g2k | hzke] 7] 9] gt e,
. 180° x (6 — 2) = 720°
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o, /BAP 9] 37|=?

A D

O 60° @ 65° @ 170° @75°

® 80°

~&B

APBC 7} A4zt o|B 2 /PBC = 60°
/ABP = 90° - 60° = 30°
AB=BPo|E=&

(BAP = (180° - 30°) + 2 = 75°




